
AP BO CN DM EL FK

HI GJ FK EL DM CN BO AP

99

88

101
0

77

111
1

66

121
2

55

131
3

44

141
4

33

151
5

22

161
6

11

Orientador
Vitor Santos

DRAWN BY

DANIEL MARQUES
DATE

PHUA

SCALE SHEET 1/1

SIZE

A0
REV

X

DRAWING TITLE

LAR 2015

20/10/2015

1:3

Haptic Interaction Workstation

Project
Definition Drawing

Front view
Scale:  1:3

1 4
2

5
6

7

8
9

23

10

9
7
5 11

Bill of Material: Product1
Quantity Part Number Type Item Number
1 Table Top Part 1
4 Steel hinges base Part 2
2 Trap Door Part 3
4 Steel hinges counter

part
Part 4

4 Support Guides Part 5
4 Omni base support Part 6
16 Table Steel L frames Part 7
2 Silicone bases Part 8
4 Supports Steel L

frames
Part 9

4 900mm 30x30
Aluminium frames

Part 10

2 340mm 30x30
Aluminium frames

Part 11

1 540mm 30x30
Aluminium frames

Part 12

8 ISO 4032 NUT M10
STEEL GRADE A
HEXAGON

Part 13

8 ISO 7093-1 WASHER
10x30 STEEL GRADE A
PLAIN LARGE SERIES

Part 14

8 ISO 10642 SCREW
M8x16 STEEL HEXAGON
SOCKET COUNTERSUNK
HEAD

Part 15

8 ISO 4762 SCREW M4x16
STEEL HEXAGON SOCKET
HEAD CAP

Part 16

8 ISO 4032 NUT M4
STEEL GRADE A
HEXAGON

Part 17

4 ISO 4017 SCREW
M10x50 STEEL GRADE A
HEXAGON HEAD

Part 18

16 ISO 4762 SCREW M5x16
STEEL HEXAGON SOCKET
HEAD CAP

Part 19

16 ISO 4032 NUT M5
STEEL GRADE A
HEXAGON

Part 20

4 ISO 4017 SCREW M8x20
STEEL GRADE A
HEXAGON HEAD

Part 21

6 ISO 4017 SCREW M6x35
STEEL GRADE A
HEXAGON HEAD

Part 22

32 ISO 10642 SCREW M3x8
STEEL HEXAGON SOCKET
COUNTERSUNK HEAD

Part 23

12

18

22

13

14
15

16
17

20

21

3

19

Left view
Scale:  1:3

Bottom view
Scale:  1:3

600

4
0
0

A

A

B

B

Section view A-A
Scale:  1:3

Section view B-B
Scale:  1:3

Isometric view
Scale:  1:5


